
Name: Date:

ORDER OF OPERATIONS
Calculate

7 + 8 x 2 10 + 7 x 2

9 - 4 x 3

15 -  4 + 7 x 2

16 x 4 - 7

8 - 3 x 2

3 x 6 - 9

11 x 3 + 4 6 + 7 x 2 - 20 ÷ 4

16 - 5 x 2 + 3
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ORDER OF OPERATIONS

Answers

7 + 8 x 2 10 + 7 x 2

9 - 4 x 3

15 -  4 + 7 x 2

16 x 4 - 7

8 - 3 x 2

3 x 6 - 9

11 x 3 + 4 6 + 7 x 2 - 20 ÷ 4

16 - 5 x 2 + 3
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Name: Date:

ORDER OF OPERATIONS
State whether each one of the statement below is true or
false. Calculate the correct answer for those that are false.

6 x 7 - 2 = 40 35 - 7 x 2 = 56

80 ÷ 2 + 6 = 10

10 - 4 + 2 x 2 = 10

18 - (4 + 7) = 2118 x 2 - (4 + 7) = 25

8 x (6 - 2) + 3= 56

3 + 7 x 3 = 30 64 - 10 + 2 = 52

43 - 3 + 2 = 42
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ORDER OF OPERATIONS
State whether each one of the statement below is true or
false. Calculate the correct answer for those that are false.

6 x 7 - 2 = 40 35 - 7 x 2 = 56

80 ÷ 2 + 6 = 10

10 - 4 + 2 x 2 = 10

18 - (4 + 7) = 2118 x 2 - (4 + 7) = 25

8 x (6 - 2) + 3= 56

3 + 7 x 3 = 30 64 - 10 + 2 = 52

43 - 3 + 2 = 42
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7 x 3 + 2 = 35

5 + 6 x 2 = 2245 ÷ 6 + 3 = 5

13 - 4 x 2 = 18

Name: Date:

ORDER OF OPERATIONS
Put brackets into each of the statements below to make it

true.

3 x 6 + 1 = 21 49 - 3 + 2 = 44

10 - 4 + 9 - 2 = 13

3 + 7 x 3 = 24 64 - 10 + 2 = 52

43 - 3 + 2 = 42
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7 x (3 + 2) = 35

(5 + 6) x 2 = 2245 ÷ (6 + 3) = 5

(13 - 4) x 2 = 18

ORDER OF OPERATIONS
Put brackets into each of the statements below to make it

true.

3 x (6 + 1) = 21 49 - (3 + 2) = 44

(10 - 4) + (9 - 2)
= 13

3 + (7 x 3) = 24 64 - (10 + 20) = 52

(43 - 3) + 2 = 42

Answers
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